

2022 SEWER IMPROVEMENTS

LEMOYNE BOROUGH, CUMBERLAND COUNTY PROJECT NO. 088682031

PROJECT MANAGER: MIKE KNOUSE

DECEMBER 13, 2021

				FARHAT EX	CAVATING LLC	E.K. SER	VICES INC	ANKIEWICZ E	NTERPRISES INC	DOLI CONSTRUCTION CORPORATION		SHILOH PAVING & EXCAVATING INC	
				UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
ITEM		QUAN.	UNIT	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
	Mobilization/Demobilization including												
1	Bonds and Insurances	1	LS	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$39,860.00	\$39,860.00	\$140,000.00	\$140,000.00	\$45,500.00	\$45,500.00
	Traffic Control	1	LS	\$1,500.00	\$1,500.00	\$14,117.00	\$14,117.00	\$147,852.00	\$147,852.00	\$17,500.00	\$17,500.00	\$9,500.00	\$9,500.00
	Flowable Fill - furnish and install PennDOT												
	Class C flowable fill, as directed, in any												
	discovered voids	20	CY	\$150.00	\$3,000.00	\$235.00	\$4,700.00	\$400.00	\$8,000.00	\$150.00	\$3,000.00	\$150.00	\$3,000.00
	Crew/equipment time for additional												
4	excavation due to discovered voids	40	HRS	\$400.00	\$16,000.00	\$551.00	\$22,040.00	\$850.00	\$34,000.00	\$200.00	\$8,000.00	\$530.00	\$21,200.00
MH 17	5 to MH 173B												
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing												
	manholes, connection to existing main,												
	full depth stone backfill, connection to												
	existing laterals, and pavement												
5	restoration, complete in-place	10	LF	\$500.00	\$5,000.00	\$794.00	\$7,940.00	\$398.00	\$3,980.00	\$800.00	\$8,000.00	\$1,050.00	\$10,500.00
	0 to MH 156					·	, ,	·		·	, ,	. ,	, ,
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing												
	manholes, connection to existing main,												
	full depth stone backfill, connection to												
	existing laterals, and pavement												
	restoration, complete in-place	15	LF	\$500.00	\$7,500.00	\$687.00	\$10,305.00	\$386.00	\$5,790.00	\$800.00	\$12,000.00	\$950.00	\$14,250.00
	8 to MH 107			700000	4.7000.00	7001100	+ = 0,000.00	7000.00	40):00:00	7000.00	+	7000.00	7 = 1,2 = 1 = 1
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing												
	manholes, connection to existing main,												
	pipe bedding, class 2 backfill, connection												
	to existing laterals, and lawn restoration,												
	complete in-place	13	LF	\$500.00	\$6,500.00	\$759.00	\$9,867.00	\$355.00	\$4,615.00	\$800.00	\$10,400.00	\$900.00	\$11,700.00
	6" PVC lateral pipe (additional) including	13	Li	\$500.00	ÇU,300.00	00.557ډ	79,607.00	,5555.00	74,013.00	\$600.00	710,400.00	\$300.00	711,700.00
	excavation, removal of existing pipe, full							1					
	depth stone backfill, lawn restoration,												
	and pavement restoration, complete in-	10		¢200.00	¢2,000,00	¢265.00	¢2.650.00	¢365.00	¢2.650.00	¢150.00	¢1 500 00	¢400.00	¢4.000.00
9	place	10	LF EA	\$300.00 \$500.00	\$3,000.00 \$500.00	\$365.00 \$1,353.00	\$3,650.00 \$1,353.00	\$365.00 \$350.00	\$3,650.00 \$350.00	\$150.00 \$100.00	\$1,500.00 \$100.00	\$400.00 \$350.00	\$4,000.00 \$350.00
9	Cleanout (additional), complete in-place Concrete sidewalk (additional), complete-	1	EA	υυ.υυcç	υυ.υυες	\$1,555.00	\$1,555.UU	\$550.00	υυ.υccç	\$100.00	\$100.00	ου.υυ Σου.υυ	, γου.υυ
10	, , , , ,	25	C.F.	¢20.00	¢500.00	¢20.00	¢075.00	¢50.00	¢1 350 00	¢10.00	¢350.00	¢150.00	ć2.7E0.00
10	in-place	25	SF	\$20.00	\$500.00	\$39.00	\$975.00	\$50.00	\$1,250.00	\$10.00	\$250.00	\$150.00	\$3,750.00

				FARHAT EX	CAVATING LLC	E.K. SER	VICES INC	ANKIEWICZ EN	NTERPRISES INC		STRUCTION RATION		PAVING &
MH 67	-6 to MH 67-7												
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing												
	manholes, connection to existing main,												
	full depth stone backfill, connection to												
	existing laterals, and pavement												
11	restoration, complete in-place	10	LF	\$500.00	\$5,000.00	\$852.00	\$8,520.00	\$386.00	\$3,860.00	\$800.00	\$8,000.00	\$1,050.00	\$10,500.00
	6" PVC lateral pipe (additional) including			,	, -,	,	, -,-	,	1-,	,	, -,	, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	excavation, removal of existing pipe, full												
	depth stone backfill, lawn restoration,												
	and pavement restoration, complete in-												
12	place	10	LF	\$300.00	\$3,000.00	\$387.00	\$3,870.00	\$355.00	\$3,550.00	\$150.00	\$1,500.00	\$350.00	\$3,500.00
13	Cleanout (additional), complete in-place	1	EA	\$500.00	\$500.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$350.00	\$350.00
	Concrete curb (additional), complete-in-												
14	place	10	LF	\$100.00	\$1,000.00	\$117.00	\$1,170.00	\$125.00	\$1,250.00	\$100.00	\$1,000.00	\$180.00	\$1,800.00
MH 5 t	o LH-1												
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing												
	manholes, connection to existing main,												
	full depth stone backfill, connection to												
	existing laterals, and pavement												
15	restoration, complete in-place	10	LF	\$500.00	\$5,000.00	\$863.00	\$8,630.00	\$386.00	\$3,860.00	\$800.00	\$8,000.00	\$1,000.00	\$10,000.00
	6" PVC lateral pipe (additional) including			,	, -,	,	, -,	,	1-,	,	, -,	, ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	excavation, removal of existing pipe, full												
	depth stone backfill, lawn restoration,												
	and pavement restoration, complete in-												
16	place	10	LF	\$300.00	\$3,000.00	\$384.00	\$3,840.00	\$356.00	\$3,560.00	\$150.00	\$1,500.00	\$350.00	\$3,500.00
17	Cleanout (additional), complete in-place	1	EA	\$500.00	\$500.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$350.00	\$350.00
MH 3 t	o MH 2												
	8" PVC pipe including excavation, removal												
	of existing pipe, removal and re-												
	installation of storm sewer, connection to												
	existing manholes, connection to existing												
	main, full depth stone backfill, connection												
	to existing laterals, and pavement												
18	restoration, complete in-place	10	LF	\$500.00	\$5,000.00	\$874.00	\$8,740.00	\$386.00	\$3,860.00	\$800.00	\$8,000.00	\$1,000.00	\$10,000.00
MH 2 t	o MH 1												
	8" PVC pipe including excavation, removal												
	of existing pipe, removal and re-												
	installation of storm sewer, connection to												
	existing manholes, connection to existing												
	main, full depth stone backfill, connection												
10	to existing laterals, and pavement	10	1.5	¢500.00	¢E 000 00	6002.00	¢0 030 00	¢39C 00	¢3 960 00	¢000.00	¢0,000,00	¢1 000 00	¢10.000.00
19	restoration, complete in-place	10	LF	\$500.00	\$5,000.00	\$882.00	\$8,820.00	\$386.00	\$3,860.00	\$800.00	\$8,000.00	\$1,000.00	\$10,000.00
	6" PVC lateral pipe (additional) including												
	excavation, removal of existing pipe, full												
	depth stone backfill, lawn restoration,												
20	and pavement restoration, complete in-	25	1.5	¢200.00	¢E 000 00	¢204.00	¢7.035.00	¢355.00	Ć0 07F 00	¢150.00	¢2.750.00	¢250.00	¢0.7E0.00
20	place Cleanout (additional), complete in-place	25 1	LF EA	\$200.00	\$5,000.00 \$500.00	\$281.00	\$7,025.00	\$355.00 \$350.00	\$8,875.00 \$350.00	\$150.00	\$3,750.00 \$100.00	\$350.00	\$8,750.00 \$150.00
21	Cleanout (additional), complete in-place	1	LA	\$500.00	00.000	\$1,353.00	\$1,353.00	\$330.00	J330.00	\$100.00	\$100.00	\$150.00	\$130.00

				FARHAT EX	CAVATING LLC	E.K. SER	RVICES INC	ANKIEWICZ E	NTERPRISES INC	DOLI CONSTRUCTION CORPORATION			PAVING &
MH 52	-2 to MH 52-1												
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing												
	manholes, connection to existing main,												
	full depth stone backfill, connection to												
	existing laterals, clearing/grubbing, lawn												
	restoration, and pavement restoration,												
22	complete in-place	12	LF	\$500.00	\$6,000.00	\$750.00	\$9,000.00	\$365.00	\$4,380.00	\$800.00	\$9,600.00	\$1,000.00	\$12,000.00
	6" PVC lateral pipe (additional) including												
	excavation, removal of existing pipe, full												
	depth stone backfill, lawn restoration,												
	and pavement restoration, complete in-												
23	place	25	LF	\$200.00	\$5,000.00	\$267.00	\$6,675.00	\$356.00	\$8,900.00	\$150.00	\$3,750.00	\$300.00	\$7,500.00
24	Cleanout (additional), complete in-place	1	EA	\$500.00	\$500.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$150.00	\$150.00
MH 50	to MH 228-B												
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing					1		1					
	manholes, connection to existing main,												
	full depth stone backfill, connection to												
	existing laterals, and temporary												
	pavement restoration, complete in-place												
25		28	LF	\$450.00	\$12,600.00	\$649.00	\$18,172.00	\$368.00	\$10,304.00	\$800.00	\$22,400.00	\$900.00	\$25,200.00
	6" PVC lateral pipe (additional) including												
	excavation, removal of existing pipe, full												
	depth stone backfill, lawn restoration,												
	and pavement restoration, complete in-				4	4	4	4	4	4	4	4	
26	place	25	LF	\$300.00	\$7,500.00	\$261.00	\$6,525.00	\$365.00	\$9,125.00	\$150.00	\$3,750.00	\$300.00	\$7,500.00
27	Cleanout (additional), complete in-place	1	EA	\$500.00	\$500.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$150.00	\$150.00
20	Concrete curb (additional), complete-in-	40		4400.00	44 000 00	4447.00	44 470 00	4405.00	44.350.00	4400.00	44 000 00	4400.00	44 000 00
28	place	10	LF	\$100.00	\$1,000.00	\$117.00	\$1,170.00	\$125.00	\$1,250.00	\$100.00	\$1,000.00	\$180.00	\$1,800.00
IVIH 32	to MH 32A												
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing												
	manholes, connection to existing main,					1		1					
	full depth stone backfill, connection to					1		1					
20	existing laterals, and pavement restoration, complete in-place	30	LF	¢450.00	¢12 E00 00	¢575.00	¢17.250.00	¢365.00	¢10.050.00	\$800.00	\$24,000,00	¢000.00	\$27,000,00
29	· ' '	30	LF	\$450.00	\$13,500.00	\$575.00	\$17,250.00	\$365.00	\$10,950.00	\$800.00	\$24,000.00	\$900.00	\$27,000.00
	6" PVC lateral pipe (additional) including excavation, removal of existing pipe, full					1		1					
	depth stone backfill, lawn restoration,					1		1					
	and pavement restoration, complete in-					1		1					
30	place	20	LF	\$300.00	\$6,000.00	\$283.00	\$5,660.00	\$355.00	\$7,100.00	\$150.00	\$3,000.00	\$350.00	\$7,000.00
31	Cleanout (additional), complete in-place	1	EA	\$500.00	\$5,000.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$150.00	\$150.00
- 51	Concrete curb (additional), complete-in-		LA	7500.00	7500.00	71,333.00	71,333.00	7550.00	4330.00	7100.00	7100.00	7130.00	7130.00
32	place	5	LF	\$100.00	\$500.00	\$117.00	\$585.00	\$115.00	\$575.00	\$100.00	\$500.00	\$180.00	\$900.00
33	Concrete sidewalk (additional), complete-i	25	SF	\$20.00	\$500.00	\$39.00	\$975.00	\$50.00	\$1,250.00	\$10.00	\$250.00	\$75.00	\$1,875.00
33	concrete sidewalk (additional), complete-i	23	JI	720.00	JJ00.00	1 333.00	00.576 و	750.00	71,230.00	310.00	7230.00	٥٠.٥٠٠	71,073.00

				FARHAT EX	CAVATING LLC	E.K. SEF	VICES INC	ANKIEWICZ E	NTERPRISES INC	DOLI CONSTRUCTION CORPORATION		SHILOH PAVING & EXCAVATING INC	
MH 75	to LH-5												
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing												
	manholes, connection to existing main,												
	inside drop connections and abandon												
	existing outside drop, full depth stone												
	backfill, connection to existing laterals,												
	and pavement restoration, complete in-												
34	place	14	LF	\$500.00	\$7,000.00	\$729.00	\$10,206.00	\$390.00	\$5,460.00	\$800.00	\$11,200.00	\$950.00	\$13,300.00
35	Drop connection	1	EA	\$1,500.00	\$1,500.00	\$2,275.00	\$2,275.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00	\$6,500.00	\$6,500.00
	6" PVC lateral pipe (additional) including												
	excavation, removal of existing pipe, full												
	depth stone backfill, lawn restoration,												
	and pavement restoration, complete in-												
36	place	60	LF	\$200.00	\$12,000.00	\$235.00	\$14,100.00	\$365.00	\$21,900.00	\$150.00	\$9,000.00	\$300.00	\$18,000.00
37	Cleanout (additional), complete in-place	2	EA	\$500.00	\$1,000.00	\$1,353.00	\$2,706.00	\$350.00	\$700.00	\$100.00	\$200.00	\$250.00	\$500.00
	Concrete curb (additional), complete-in-												
38	place	20	LF	\$100.00	\$2,000.00	\$117.00	\$2,340.00	\$125.00	\$2,500.00	\$100.00	\$2,000.00	\$180.00	\$3,600.00
	Concrete sidewalk (additional), complete-												
39	in-place	25	SF	\$20.00	\$500.00	\$39.00	\$975.00	\$50.00	\$1,250.00	\$10.00	\$250.00	\$75.00	\$1,875.00
MH 29	5 to MH 12												
	8" PVC pipe including excavation, removal												
	of existing pipe, connection to existing												
	manholes, connection to existing main,												
	full depth stone backfill, connection to												
	existing laterals, and concrete and asphalt												
	pavement restoration, complete in-place												
40		22	LF	\$500.00	\$11,000.00	\$761.00	\$16,742.00	\$375.00	\$8,250.00	\$800.00	\$17,600.00	\$900.00	\$19,800.00
	6" PVC lateral pipe (additional) including												
	excavation, removal of existing pipe, full												
	depth stone backfill, lawn restoration,												
	and pavement restoration, complete in-												
41	place	20	LF	\$300.00	\$6,000.00	\$264.00	\$5,280.00	\$360.00	\$7,200.00	\$150.00	\$3,000.00	\$250.00	\$5,000.00
42	Cleanout (additional), complete in-place	1	EA	\$500.00	\$500.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$150.00	\$150.00
	Concrete curb (additional), complete-in-			4	4	4	40.00.00	4	4	4	4	4	4
43	place	17	LF	\$100.00	\$1,700.00	\$145.00	\$2,465.00	\$125.00	\$2,125.00	\$100.00	\$1,700.00	\$180.00	\$3,060.00
	Concrete sidewalk (additional), complete-			400.00	4	1	40.00.00	4	40.000	4	+	4	4
44	in-place	68	SF	\$20.00	\$1,360.00	\$95.00	\$6,460.00	\$50.00	\$3,400.00	\$10.00	\$680.00	\$55.00	\$3,740.00
4.5	Detectable Warning Surface, complete-in-		65	475.00	4500.00	400.00	4554.00	4450.00	44 300 05	425.00	4200.00	450.00	4400.00
45	place	8	SF	\$75.00	\$600.00	\$83.00	\$664.00	\$150.00	\$1,200.00	\$35.00	\$280.00	\$60.00	\$480.00

			FARHAT EX	CAVATING LLC	E.K. SER	RVICES INC	ANKIEWICZ E	NTERPRISES INC		STRUCTION RATION	SHILOH PAVING & EXCAVATING INC		
MH 20	3 to MH 95A												
	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration,												
46	and lawn restoration, complete in-place	10	LF	\$500.00	\$5,000.00	\$942.00	\$9,420.00	\$385.00	\$3,850.00	\$900.00	\$9,000.00	\$1,000.00	\$10,000.00
47	6" PVC lateral pipe (additional) including excavation, removal of existing pipe, full depth stone backfill, lawn restoration, and pavement restoration, complete inplace	20	LF	\$300.00	\$6,000.00	\$282.00	\$5,640.00	\$360.00	\$7,200.00	\$150.00	\$3,000.00	\$300.00	\$6,000.00
48	Cleanout (additional), complete in-place	1	EA	\$500.00	\$500.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$150.00	\$150.00
	Concrete curb (additional), complete-in-				,	. ,			·		,		,
49	place	10	LF	\$100.00	\$1,000.00	\$117.00	\$1,170.00	\$125.00	\$1,250.00	\$100.00	\$1,000.00	\$180.00	\$1,800.00
	Concrete sidewalk (additional), complete-												
50	in-place	25	SF	\$20.00	\$500.00	\$39.00	\$975.00	\$50.00	\$1,250.00	\$10.00	\$250.00	\$70.00	\$1,750.00
MH 41	to MH 39												
51	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, and lawn restoration, complete in-place	14	LF	\$500.00	\$7,000.00	\$838.00	\$11,732.00	\$380.00	\$5,320.00	\$900.00	\$12,600.00	\$920.00	\$12,880.00
52	Concrete sidewalk complete-in-place	288	SF	\$20.00	\$5,760.00	\$21.00	\$6,048.00	\$50.00	\$14,400.00	\$10.00	\$2,880.00	\$45.00	\$12,960.00
MH 58	to MH 49												
	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, reset brick, and lawn restoration,												
53	complete in-place	16	LF	\$500.00	\$8,000.00	\$752.00	\$12,032.00	\$360.00	\$5,760.00	\$900.00	\$14,400.00	\$920.00	\$14,720.00
54	Concrete sidewalk complete-in-place	96	SF	\$20.00	\$1,920.00	\$70.00	\$6,720.00	\$50.00	\$4,800.00	\$10.00	\$960.00	\$65.00	\$6,240.00
55	Detectable Warning Surface, complete-in- place	8	SF	\$75.00	\$600.00	\$83.00	\$664.00	\$150.00	\$1,200.00	\$35.00	\$280.00	\$65.00	\$520.00
56	Concrete curb (additional), complete-in- place	24	LF	\$100.00	\$2,400.00	\$123.00	\$2,952.00	\$125.00	\$3,000.00	\$100.00	\$2,400.00	\$180.00	\$4,320.00

				FARHAT EX	CAVATING LLC	E.K. SER	VICES INC	ANKIEWICZ E	NTERPRISES INC	DOLI CONSTRUCTION CORPORATION		SHILOH PAVING & EXCAVATING INC	
MH 94	to MH 96												
	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, reset brick, and lawn restoration,												
57	complete in-place	10	LF	\$500.00	\$5,000.00	\$1,078.00	\$10,780.00	\$365.00	\$3,650.00	\$900.00	\$9,000.00	\$1,000.00	\$10,000.00
58	Concrete sidewalk complete-in-place	70	SF	\$20.00	\$1,400.00	\$38.00	\$2,660.00	\$50.00	\$3,500.00	\$10.00	\$700.00	\$70.00	\$4,900.00
59	Concrete curb (additional), complete-in- place	22	LF	\$100.00	\$2,200.00	\$107.00	\$2,354.00	\$125.00	\$2,750.00	\$100.00	\$2,200.00	\$180.00	\$3,960.00
MH 93	to MH 8												
60	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, and lawn restoration, complete in-place	10	LF	\$500.00	\$5,000.00	\$1,078.00	\$10,780.00	\$380.00	\$3,800.00	\$900.00	\$9,000.00	\$1,000.00	\$10,000.00
61	Concrete sidewalk complete-in-place	50	SF	\$20.00	\$1,000.00	\$39.00	\$1,950.00	\$52.00	\$2,600.00	\$10.00	\$500.00	\$70.00	\$3,500.00
62 MH 38	Concrete curb (additional), complete-in- place to MH 38A	10	LF	\$100.00	\$1,000.00	\$117.00	\$1,170.00	\$125.00	\$1,250.00	\$100.00	\$1,000.00	\$180.00	\$1,800.00
63	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, and lawn restoration, complete in-place	10	LF	\$500.00	\$5,000.00	\$875.00	\$8,750.00	\$380.00	\$3,800.00	\$800.00	\$8,000.00	\$1,000.00	\$10,000.00

			FARHAT EX	CAVATING LLC	E.K. SER	VICES INC	ANKIEWICZ E	NTERPRISES INC		STRUCTION RATION	SHILOH PAVING & EXCAVATING INC		
MH 77	to MH 79												
64	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, and lawn restoration, complete in-place	28	LF 1500	\$450.00	\$12,600.00	\$707.00	\$19,796.00	\$385.00 \$3,500.00	\$10,780.00	\$800.00	\$22,400.00	\$950.00	\$26,600.00
65	Drop connection 6" PVC lateral pipe (additional) including excavation, removal of existing pipe, full depth stone backfill, lawn restoration, and pavement restoration, complete inplace	25	1500 LF	\$1,500.00 \$250.00	\$1,500.00 \$6,250.00	\$2,275.00	\$2,275.00 \$7,075.00	\$3,500.00	\$3,500.00 \$9,125.00	\$1,500.00 \$150.00	\$1,500.00	\$6,500.00	\$6,500.00
67	Cleanout (additional), complete in-place	1	EA	\$500.00	\$500.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$150.00	\$150.00
68	Concrete curb (additional), complete-in- place	10	LF	\$100.00	\$1,000.00	\$117.00	\$1,170.00	\$125.00	\$1,250.00	\$100.00	\$1,000.00	\$180.00	\$1,800.00
69	Concrete sidewalk (additional), complete- in-place	25	SF	\$20.00	\$500.00	\$39.00	\$975.00	\$50.00	\$1,250.00	\$10.00	\$250.00	\$70.00	\$1,750.00
MH 23	to MH 24												
70	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, and lawn restoration, complete in-place	12	LF	\$500.00	\$6,000.00	\$819.00	\$9,828.00	\$380.00	\$4,560.00	\$800.00	\$9,600.00	\$1,000.00	\$12,000.00
71 72	6" PVC lateral pipe (additional) including excavation, removal of existing pipe, full depth stone backfill, lawn restoration, and pavement restoration, complete inplace Cleanout (additional), complete in-place	10	LF EA	\$300.00 \$500.00	\$3,000.00 \$500.00	\$387.00 \$1,353.00	\$3,870.00 \$1,353.00	\$365.00 \$355.00	\$3,650.00 \$355.00	\$150.00 \$100.00	\$1,500.00 \$100.00	\$350.00 \$150.00	\$3,500.00 \$150.00
MH 41	7-5 to MH 417-4												
73	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, and lawn restoration, complete in-place	76	LF	\$250.00	\$19,000.00	\$441.00	\$33,516.00	\$380.00	\$28,880.00	\$800.00	\$60,800.00	\$650.00	\$49,400.00
74 75	6" PVC lateral pipe (additional) including excavation, removal of existing pipe, full depth stone backfill, lawn restoration, and pavement restoration, complete inplace Cleanout (additional), complete in-place	40 2	LF EA	\$200.00 \$500.00	\$8,000.00 \$1,000.00	\$280.00 \$1,353.00	\$11,200.00 \$2,706.00	\$365.00 \$350.00	\$14,600.00 \$700.00	\$150.00 \$100.00	\$6,000.00 \$200.00	\$300.00 \$150.00	\$12,000.00 \$300.00

				FARHAT EX	CAVATING LLC	E.K. SEF	RVICES INC	ANKIEWICZ EI	NTERPRISES INC	DOLI CONSTRUCTION CORPORATION		SHILOH PAVING & EXCAVATING INC	
MH 43	0 to MH 431												
76	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, and lawn restoration, complete in-place 6" PVC lateral pipe (additional) including	12	LF	\$500.00	\$6,000.00	\$778.00	\$9,336.00	\$385.00	\$4,620.00	\$800.00	\$9,600.00	\$1,000.00	\$12,000.00
_	excavation, removal of existing pipe, full depth stone backfill, lawn restoration, and pavement restoration, complete in-place	20	LF 	\$300.00	\$6,000.00	\$282.00	\$5,640.00	\$365.00	\$7,300.00	\$150.00	\$3,000.00	\$350.00	\$7,000.00
	Cleanout (additional), complete in-place 4 to MH 433	1	EA	\$500.00	\$500.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$150.00	\$150.00
79	8" PVC pipe including excavation, removal of existing pipe, removal and reinstallation of storm sewer, connection to existing manholes, connection to existing main, full depth stone backfill, connection to existing laterals, pavement restoration, and lawn restoration, complete in-place	22	LF	\$500.00	\$11,000.00	\$561.00	\$12,342.00	\$380.00	\$8,360.00	\$800.00	\$17,600.00	\$1,000.00	\$22,000.00
	6" PVC lateral pipe (additional) including excavation, removal of existing pipe, full depth stone backfill, lawn restoration, and pavement restoration, complete inplace	10	LF	\$300.00	\$3,000.00	\$369.00	\$3,690.00	\$365.00	\$3,650.00	\$150.00	\$1,500.00	\$350.00	\$3,500.00
	Cleanout (additional), complete in-place	1	EA	\$500.00	\$500.00	\$1,353.00	\$1,353.00	\$350.00	\$350.00	\$100.00	\$100.00	\$150.00	\$150.00
	TOTAL BID				\$347,390.00		\$516,239.00		\$569,151.00		\$573,230.00		\$633,080.00